
The	decrease	in	Helmholtz	function	F	equals	the	maximum	energy	that	can	be	freed	in	an	isothermal	
process	and	made	available	for	work.

The	condition	for	equilibrium	for	a	system	in	thermal	contact	with	a	reservoir	and	kept	at	constant	value	
is	dF	=	0.

If	contact	with	the	reservoir	keeps	both	temperature	and	pressure	constant,	the	system	goes	to	the	
lowest	value	of	the	Gibbs	function.
Stable	equilibrium	when	dG	=	0.
If	non-mechanical	work	is	done	by	the	system,	then	W_nm	<=	\Delta	G	(no	change	in	T	and	P)
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